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o Watch Video Solution

35. A1[Gid S? S. sin 2z + 2sindz + sin 6z = 4 cos® z sin4x

o Watch Video Solution
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43. 31[Gid S S. cot = cot 2z — cot 2z cot 3z — cot 3z cotz = 1
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45. 41[Gid S2 S.cosdx = 1 — 8sinz cos®

o Watch Video Solution

46. A1[Gid S S. cos 6z = 32cos® z — 48cos* + 18cos’z — 1
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53. A 1Ud HISWlell UIuS GSd 2114 : sin 22 + cosz = 0
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:sin A, sin B, sin C
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COSs (7)
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60. sigyel [Fisiel ABC HI2 2A1lcid S?,
sin B—C = b—c cos A
2  a 2
o Watch Video Solution
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a(bcos C — ccos B) = b? — ¢
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a(cos C — cos B) = 2(b — c)cos” <7)
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65. siguel [Fisiel ABC HI2 2A1(Gid s?l,
acos A +bcosB + ccos C = 2asin BsinC

o Watch Video Solution
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cos A cos B cos C a?+ b+ 2

+ + =

a b c 2abc
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(b2 — c2)cotA + ((32 — a,2)cotB + (a2 — bz)cotC =0
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68. 1[Gl SR s,
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o Watch Video Solution
609. 2A1[Gid S 5,
r +
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T —
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